PROPERTIES OF COMPLETE ELLIPTIC INTEGRALS

Complete Elliptic Integrals of the first and second kind are defined as-

$$K(m) = \int_{\theta=0}^{\pi/2} \frac{d\theta}{\sqrt{1 - m\sin(\theta)^2}} \quad and \quad E(m) = \int_{\theta=0}^{\pi/2} \sqrt{1 - m\sin(\theta)^2} d\theta$$

, respectively. Their complimentary forms are given as-

$$K'(m) = K(1-m)$$
 and $E'(m) = E(1-m)$

Typically |m| < 1 and often you will see m replaced by k^2 in mathematical texts and canned programs.

Historically these integrals were first encountered in connection with the period of a simple pendulum and in the determination of the circumference of an ellipse. Their utility however extends much further and we will now look at some of their properties. Lets begin with some simple substitutions-

$$t = \sin(\theta) = u/\sqrt{u^2 + 1} = \tanh(w)$$
, $s = \sinh(w)$

These produce the alternate forms-

$$K(m) = \int_{t=0}^{1} \frac{dt}{\sqrt{(1-t^2)(1-mt^2)}} = \int_{u=0}^{\infty} \frac{du}{\sqrt{(1+u^2)(1+(1-m)u^2)}}$$
$$= \int_{w=0}^{\infty} \frac{dw}{\sqrt{m+(1-m)\cosh(w)^2}} = \int_{s=0}^{\infty} \frac{ds}{\sqrt{(1+s^2)(1+(1-m)s^2)}}$$

and-

$$E(m) = \int_{t=0}^{1} \frac{\sqrt{1 - mt^2}}{\sqrt{1 - t^2}} dt = \int_{u=0}^{\infty} \frac{\sqrt{(1 + u^2)(1 + (1 - m)u^2)}}{(1 + u^2)^2} du$$
$$= \int_{w=0}^{\infty} \frac{\sqrt{(1 - m)\cosh(w)^2 + m}}{\cosh(w)^2} dw = \int_{s=0}^{\infty} \sqrt{\frac{1 + (1 - m)s^2}{(s^2 + 1)^3}} ds$$

We can expand the above integral in t for K(m) to find-

$$K(m) = \int_{t=0}^{1} \frac{dt}{\sqrt{1-t^2}} \left[1 + \frac{1}{2}mt^2 + \frac{(1\cdot 3)}{(2\cdot 4)}(mt^2)^2 + \frac{(1\cdot 3\cdot 5)}{2\cdot 4\cdot 6}(mt^2)^3 + \dots\right]$$

This result can be integrated term by term to yield the well known result-

$$K(m) = \frac{\pi}{2} \left[1 + \left(\frac{1}{2}\right)^2 m + \left(\frac{1 \cdot 3}{2 \cdot 4}\right)^2 m^2 + \left(\frac{1 \cdot 3 \cdot 5}{2 \cdot 4 \cdot 6}\right)^2 m^3 + \dots\right] = \frac{\pi}{2} \sum_{n=0}^{\infty} \left[\frac{(2n)!}{4^n (n!)^2}\right]^2 m^n$$

which converges relatively rapidly to yield K(0.5) accurate to 33 places when using the first hundred terms in the series. Expanding the above t integral for E(m) yields-

$$E(m) = \int_{t=0}^{1} \frac{dt}{\sqrt{1-t^2}} \left[1 - \left(\frac{1}{2}\right)mt^2 - \left(\frac{1}{8}\right)(mt^2)^2 - \left(\frac{1}{16}\right)(mt^2)^3 - \dots\right]$$

and produces the infinite series-

$$E(m) = \frac{\pi}{2} \left[1 - \left(\frac{1}{2}\right)^2 m - \left(\frac{1 \cdot 3}{2 \cdot 4}\right)^2 \frac{m}{3} - \left(\frac{1 \cdot 3 \cdot 5}{2 \cdot 4 \cdot 6}\right) \frac{m^2}{5} - \dots \right]$$

One can also use the above integral representations for the Complete Elliptic Integrals to obtain the following evaluations-

$$\sqrt{2} \int_{0}^{\infty} \frac{ds}{\sqrt{(1+s^2)(2+s^2)}} = K(0.5) = 1.85407467730137191843385034720...$$

and-

$$\frac{1}{\sqrt{2}} \int_{0}^{\infty} \frac{\sqrt{2+s^2}}{\sqrt{(1+s^2)^3}} ds = E(0.5) = 1.35064388104767550252017473534...$$

Numerous other integrals can be expressed in terms of K(m) and E(m). The reader is referred to the "Handbook of Mathematical Functions" by Abramowitz and Stegun.

One can also obtain derivative conditions using the Leibnitz approach. For example,

$$\frac{dE(m)}{dm} = \frac{1}{2m} \int_{0}^{1} \frac{\left[\left(1 - mt^{2}\right) - 1\right]}{\sqrt{1 - t^{2}}\sqrt{1 - mt^{2}}} dt = \frac{1}{2m} \left[E(m) - K(m)\right]$$

and-

$$\frac{dK(m)}{dm} = \left[\frac{E(m) - (1 - m)K(m)}{2m(1 - m)}\right]$$

Another important property of the complete elliptic integrals is the Legendre observation that-

$$[K(m)E(1-m) + K(1-m)E(m) - K(m)K(1-m)] = \frac{\pi}{2}$$

which at m=0.5 produces the very useful identity-

$$\pi = 2K(0.5)[2E(0.5) - K(0.5)]]$$

Also, in view of the derivative condition on K(m) given above, it follows that-

$$\pi = 2K(0.5) \frac{dK(0.5)}{dm} = \left| \frac{d[K(m)]^2}{dm} \right|_{m=1/2} = 3.14159265358...$$

That is, π is given exactly as the product of two integrals as-

$$\pi = 4 \begin{bmatrix} \infty & ds \\ \int g = 0 & \sqrt{2 + 3s^2 + s^4} \end{bmatrix} \begin{bmatrix} \infty & g^2 \\ \int g = 0 & \sqrt{(1 + s^2)(2 + s^2)^3} & ds \end{bmatrix}$$
$$= 4 \begin{bmatrix} 1 & dt \\ \int g = 0 & \sqrt{(1 - t^2)(2 - t^2)} \end{bmatrix} \begin{bmatrix} 1 & \sqrt{1 - t^2} \\ \int g = 0 & \sqrt{1 - t^2} & dt \end{bmatrix}$$

= 4(1.3110287771460599052324197949455597068413774757158115814084108519003952935352071..)(0.59907011736779610371996124614016193911360633 16078257791318374764732026070719579...) = 3.141592653589793238462643 383279502884197169399375105820974944592307816406286209.. yielding π to eighty places.

These relations between π and K(0.5) and E(0.5), when used in conjunction with the AGM method for obtaining very precise values for these complete elliptic integrals, allows one to determine the value of π to billion place accuracies(see-http://numbers.computation.free.fr/Constants/Pi/piAGM.html). Since the last integrals in t can be solved exactly in terms of gamma functions Γ , one finds the identity-

$$K(0.5) = \frac{\sqrt{\pi}\Gamma(1/4)}{2^{3/2}\Gamma(3/4)} = \frac{\Gamma(1/4)^2}{4\sqrt{\pi}} = \frac{\pi}{\sqrt{2}M} = 1.8540746773013719184...$$

where M=1.1981402347355922075.. is the algebraic-geometrical mean(AGM) of 1 and $\sqrt{2}$. We thus have-

$$\pi = \left[\frac{M\Gamma^2(1/4)}{2\sqrt{2}}\right]^{\frac{2}{3}} = \frac{MB(0.25, 0.25)}{2\sqrt{2}} = \frac{M}{2\sqrt{2}} \int_{t=0}^{1} \frac{dt}{[t(1-t)]^{3/4}}$$

for determining the value of π to any desired order of accuracy. Here we have used the Beta function relations-

$$B(n,m) = \frac{\Gamma(n)\Gamma(m)}{\Gamma(n+m)} = \int_{t=0}^{1} t^{n-1} (1-t)^{m-1} dt$$

Finally, let us formulate some differential equations involving K(m) and E(m). Consider first the hypergeometric series-

$$F(a,b,c,m) = 1 + \frac{ab}{c}m + \frac{a(a+1)b(b+1)}{c(c+1)2!}m^2 + \frac{a(a+1)(a+2)b(b+1(b+2))}{c(c+1)(c+2)3!}m^3 + \dots$$

If we set a=b=1/2 and c=1, one obtains-

$$F(1/2, 1/2, 1, m) = 1 + \frac{1}{4}m + \frac{9}{64}m^2 + \frac{25}{256}m^3 + O(m^4)$$

This just matches $2K(m)/\pi$ from the earlier given series expansion. Thus we can conclude, knowing the form of the standard hypergeometric equation, that-

$$m(1-m)\frac{d^2 K(m)}{dm^2} + (1-2m)\frac{dK(m)}{dm} - \frac{1}{4}K(m) = 0$$

Also, by manipulating the two first derivative conditions for K(m) and E(m) given above, we find the second order differential equation-

$$m(1-m)\frac{d^2 E(m)}{dm^2} + (1-m)\frac{dE(m)}{dm} + (\frac{1}{4})E(m) = 0$$

This is just another version of the hypergeometric equation with a=1/2, b=-1/2, and c=1. Indeed one has that-

$$E(m) = \frac{\pi}{2} F(\frac{1}{2}, \frac{-1}{2}, 1, m)$$
 provided that $|m| < 1$.

Feb. 24, 2009

•